Calculation of the standard error
b) Basic formula
For the variance of an estimated total :

[image: image1.wmf] 

V

ˆ

)

λ

(

λ

1

r

1

r

p

1

n

V

ˆ

 

Y

r

n

A

Y

r

n

1

r

1

n

r

n

A

Y

A

1

r

1

n

r

n

N

n

1

r

n

n

N

 

)

Y

ˆ

(

V

ˆ

2

k

k

1

 

k

h

k

h

k

h

R

i

2

R

i

k

K

1

k

k

k

2

c

k,

H

1

h

2

GRH

R

i

i

h

 

strate

 

k

 

GRH

k

c

k,

h

2

GRH

R

i

i

H

1

h

h

 

strate

 

k

 

GRH

k

c

k,

k

c

k,

k

c

k,

h

GRH

R

i

 

2

i

H

1

h

h

 

strate

 

k

 

GRH

h

k

c

k,

k

c

k,

h

h

k

c

k,

2

h

2

h

exp

4

4

4

4

4

4

3

4

4

4

4

4

4

2

1

j

j

÷

÷

ø

ö

ç

ç

è

æ

-

-

-

+

ï

ï

ï

ï

ï

ï

þ

ï

ï

ï

ï

ï

ï

ý

ü

ú

ú

û

ù

ê

ê

ë

é

+

÷

÷

ø

ö

ç

ç

è

æ

ú

ú

û

ù

ê

ê

ë

é

÷

÷

ø

ö

ç

ç

è

æ

-

-

-

+

ú

ú

û

ù

ê

ê

ë

é

-

-

-

÷

÷

ø

ö

ç

ç

è

æ

-

=

å

å

å

å

å

å

å

å

å

å

å

Î

=

=

Ç

Î

Ì

Ç

Î

=

Ì

Ç

Î

=

Ì


With :
h : stratum ; Nh : number of units of the frame population in stratum h ; nh : number of units of the sample in stratum h ; nk,c: number of units of the sample in response homogeneity response group k (excluding out of scope units) ; rk : nb of respondants in group k ; Rh : nb of respondant in stratum h. 
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